BRANZ / Components [(x®%&S : TY-34)2008.02.08
54#8 / External View No. %% / Part name ¥E / Pcs & / Material B xEMNE / Color- Finish
T |Vy TH = / Top cover 1 ABSEiRE / ABS AJANT U=/ White gray
A YB-m2-p / Polycarbonate |&EBR / Transparent
2 |K7+«— / Base 1 ABSEtRE / ABS AJ{NT V- / White gray
- . o — 3 Ay b/ Gasket 1 A Y903y / Polyurethane 73v) / Black
L |Zv # / Latch 3 A77b3 / Stainless steel #ILE / Unfinished
= 5 [Eftx—-—2ZHALAMS x 10) L K = {fioox-
o Screw(M5 - 10) Steel Trivalent chromate
77 =N IWT—% / Technical Data
O o ) . _
__________ _lrl] REZEML / Protection class P65
FEARE®EE / Operating temperature [ -10C ~ +60C
WeEMt 2 2 2/ Flammability class UL94LHB
600
552 § 181 2
525 30
6 76 76 76 16
EZHI L e e S S = S e e s e =y
SIEA o o o o o o o@|
Hl |
:| |
| |
=l I
i :
= = i S IL, oo EEL =
Fwn = = I.“ oo oo ”.l
Hl |
=l I
5l |
| |
| | = |
i ___ Al ol F ] m A o 1 o . . o 1| B - =
L 57 o _i - 1 J' (LT} L (1 T "L;"" ([ o "\'c'>/' 1 L iHj
\ L -M54Y4-htoh
50.9 . 30 4-M5 Insert nut
‘ ®
[ P iy )
N | == = -l
(I B (EERED) / Color TypelEnd of product numberd)
[0 2= / Code by 771 /N— / Top cover K54 — / Base
— |2 G R74 bJL— / White gray |[£74 7L — / White gray
. - U A - - AIE A J— T BB/ Transparenf x74 7L — / White gray
- ‘ 2% /Title N—
L =M54 4= o 576 1 BASU I D FERIE BiK - BB ABST 7Ky 7 & O L]
[”_MS |nser1> nuf | TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 LATCH‘HINGED ABS PLASTI( BOX
KR/ /Approved | &R /Checked | #E/Created 3% /Product number RE/Scal;SS
. BCAPL4060180 =
iR PR B 172
fEf B /Date  2019/06/03




RfR / Internal View

2 181
R
—
£
S
==

400

A~ /Max dim. 163.8

)
~ B 1
=
LN
m
£
O
& %
>
~
3
+
=
i
____B
- E=N

L-M5478-KF9h

U (1] mih
RT 14— (RAR)
Base (Internal View)
600
- ] 1|
I[& @l
©® ® ® ® ® @ ® ©®
fo\ fo\
O/ O/
® ® ® ® ® ® ® %
\ L
- ~7 \
S~
1] E— [T, [ — i —

B~TE /Max dim. 565.9

MY
/\J:T

L-M5 Insert nut

[(xm&= : TY-34)2008.02.08

$1/3— (N1R)
Cover (Internal View)

L —M54 8=k vh

4-M5 Insert nut

BREH S HFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

&% /Title

K- BHERBAINABST 7Ky 7 2
IP65 LATCH-HINGED ABS PLASTIC BOX

3 ]
CJI\J

&R/ Approved

PR

I&X /Checked

IR

BN /Created

’162

2% /Product number
BCAPL06018G/BCAPL06018T

RE /Scale
1:5.5

{ER B /Date 2019/06/03

2/ 2




	BCAP406018 Model (1).pdf
	BCAP406018 Model (2).pdf

